Magnetically Coupled Rodless Cylinder o
Slider Type: Ball Bushing Bearing CY1L Series

Dimensions

Slider type/Ball bushing bearing

CY1L6/10 (NB) Z + Stroke _(NA) H
1T Hollow shaft for piping T [(N) Auto switch mountable HP__ 2xM5x0.8
7 f AxMM o |NN N HE ad
| pephm-PA, [ Sep
| $ o .
T
i =
o8 — ; z
i —" O
& _3 ¢ p
x
I :{ ! | /F - 4 x Counterbore dia. 0B -
B | G IF ,/ Gl 4 x Counterbore depth. C
T“ L CA
o / | Q + Stroke &
i Shock absorber Shock absorber 3
=—A \" RBO805 RB0805 ta S
u 5 Side plate J 45
Section IF (CY1L6)
(mm)
Model A B c D d |[EA|EB|FA|FB| G [GP| H |HA |HB [HG | HI | HO | HP | HS | HT J JK
CY1L6 7 65| 3 76| 8| — | — | — | —|6 36 | 27 5 [10 [11 9 25 | 26 |14 16 | M4x0.7 | 65
CY1L10 85| 8 4 |12 10 6 12 3 5 | 75|50 | 34 6 |175[145[135| 33 | 33 |21.5| 18 | M5x0.8 | 9.5
Model L|LD| M MM (N) |(NA) | (NB) NN PA*| PB|PW| Q |QW|RW | T |TT |ta |[th | W | Z
CY1L6 40 35| 6 M4 x0.7 |11 30 | 24 M8 x 1.0 24 | 40 | 60 | 54 | 20 |12 |10 |16 — | — [ 56 68

CYiL10 68 43| 8 M4x07 [105] 27 | 19 M8x1.0 |30 | 60 | 80 | 85 | 26 |17.5/125]20.5]| 0.5 | 1.0 | 77 | 103
+ PA dimensions are for split from center.

CY1L15/20/25/32/40 _(NB) Z + Stroke _ (NA) H
N kad Hollow shaftfor piping |y Auto switch mountable I.T 2xP
4xwmm . PA HG|/axJ
Depth M\ \ [ /|/[Depth oK
LE==re
~f by l@;
8t
NN/ @
| / o
gl g E C9m 8 &
Lo =
5 =)
8l ES = @@7
=8 Y m— [(Ban]
all L s |
L

ﬁ Q + Stroke =

o Shock absorber Shock absorber 3
— — 3

- g

UTNC) Sé} ta

mm)

Model A[B|C| D |d|[EAEB|FAIFB| G |GP | H |HA| HB | HG | HI | HO | HP | HS | HT J JK| L [LD
CY1L15 75| 95|5 |16.6[12| 6|13|3 | 6| 65| 65|40 | 65 4 [16 |14 38 [39[25 |16 M6 x 1.0 9.5| 75|56

Cy1iL20 95| 95(52(216|16 |—|—|—|—| 85| 80|46|9 |10 |18 |16 | 44 | 4531 |20 M6 x 1.0 10 86 |5.6
CY1L25 95|11 |65|/264 |16 | 8|14| 4| 7|85 90|54 |9 [18 [23 |21 52 | 53 |39 |20 M8 x 1.25 10 86 |7
CY1L32 [105(14 |8 [33.6|20| 8|16|5 | 7| 9.5/ 110 |66 [12 [26.5|26.5|24.5| 64 | 64 |47.5| 25 M10x 1.5 15 1100 (9.2
CY1L40 |115[14 |8 |41.6]|25|10|20|5 [10{10.5/130|78 [12 |35 |30.5|28.5| 76 | 74 [56 | 30 M10x 1.5 15 136 9.2

Model M MM (N) | (NA) [(NB) NN P PA*| PB|PW | Q |QW|RW| T [ta |[th | TT [ W Z | Shockabsorber
CY1L15 8 [M5x0.8 | 85| 27 | 17 | M8x1.0 | M5x0.8 | 45 70| 95| 90| 30 | 15[ 12505 (1.0 |225| 92| 112 |RB080S
Cy1iL20 10 [M6x1.0 [10.5| 29 | 20 |[M10x1.0| Rc1/8 | 50 90 | 120 |105| 40 | 28 | 16.5 | — | — | 25.5| 117 | 130 |RB1006

CY1iL25 10 [M6x1.0 [125| 49 | 40 [M14x15| Rc1/8 | 60 | 100 | 130 105 | 50 | 22 | 16.5 | 0.5 | 1.0 | 25.5 | 127 | 130 [RB1411
CY1L32 12 |[M8x1.25(135| 52 | 42 |[M20x15| Rc1/8 | 70 | 120 | 160 [121| 60 | 33 | 185 |0.5 | 1.0 | 28.5 | 157 | 149
CY1L40 12 |[M8x1.25(125| 51 | 36 |M20x15| Rc1/4 | 90 | 140 | 190 [ 159 | 84 | 35| 20.5|1.0 | 1.0 | 35.5 | 187 | 194

= PA dimensions are for split from center.

RB2015

1519 @



